Calculate the missing number in these calculations.

1.

10.

Multiplying 3-Digit by 1-Digit

—06
x 2
412

2_0
4

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

10_ 21. 95
x 2 x 4
206 2380
2_4 22. 2_0
X 3 X 2
672 540
Lo 23. _83
x 4 x 2
1760 1166
2_ 4 24, 19_
X Ll' X 3
936 585
14 25. 58 __
X 4 X 3
2056 1752
2_6 26. 5 9
X 3 X 4
678 2356
2_0 27. 26
x 3 x 3
870 678
_ 02 28. 29 __
x 2 x 2
804 594
21 29. 4 8
X 3 X 2
645 916
_61 30. 69
X 3 X 4
1683 1476

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.
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